



**Evaluate the following definite integrals as limits of sums.:**

1.  $\int_a^b x dx$

**SOLUTION**

Let  $f(x) = x$ , then  $\int_a^b (f)x dx = \int_a^b x dx$  Now,  $f(a) = a, f(a+h) = a+h, f(a+2h) = a+2h$  .....

.....  $f(a+(n-1)h) = a+(n-1)h$  Since  $\int_a^b f(x) dx = \lim_{h \rightarrow 0} h[f(a) + f(a+h) + \dots + f(a+(n-1)h)]$

Where  $nh = b-a \therefore I = \int_a^b x dx = \lim_{h \rightarrow 0} h[a + (a+h) + (a+2h) + \dots + (a+(n-1)h)] = \lim_{h \rightarrow 0} h[na + h(1+2+\dots+(n-1))] =$

$$\lim_{h \rightarrow 0} h \left[ na + h \frac{(n-1)(n)}{2} \right] = \lim_{h \rightarrow 0} \left[ \frac{2nah + nh^2(n-1)}{2} \right] = \lim_{h \rightarrow 0} \left[ \frac{2nah + nh(nh-h)}{2} \right] = \frac{2a(b-a) + (b-a)(b-a)}{2} = \frac{(2a+b-a)(b-a)}{2}$$

$$= \frac{(b+a)(b-a)}{2} = \frac{b^2 - a^2}{2}$$

2.  $\int_0^5 (x+1) dx$

**SOLUTION**

Let  $f(x) = x+1 \Rightarrow \int_0^5 (f)x dx = \int_0^5 (x+1) dx$  Where,  $a = 0, b = 5, nh = b-a = 5-0 = 5$  Now,  $f(a) = f(0) = 0+1 = 1$   
 $f(a+h) = f(h) = h+1 = 1+h, f(a+2h) = f(2h) = 2h+1 = 1+2h$  .....

.....  $f(a+(n-1)h) = f((n-1)h) = 1+(n-1)h = 1+(n-1)h$  By definition  $\int_a^b f(x) dx =$

$$\lim_{h \rightarrow 0} h [f(a) + f(a+h) + f(a+2h) + \dots + f(a+(n-1)h)] \therefore \int_0^5 (x+1) dx = \lim_{h \rightarrow 0} h [1 + (1+h) + (1+2h) + \dots + (1+(n-1)h)]$$

$$= \lim_{h \rightarrow 0} h [(1+1+1+1 \dots \text{to } n \text{ terms}) + h(1+2+3+\dots+(n-1))] = \lim_{h \rightarrow 0} h \left[ n + h \frac{(n-1)n}{2} \right] = \lim_{h \rightarrow 0} \left[ nh + \frac{(nh-h)nh}{2} \right] = \lim_{h \rightarrow 0} \left( 5 + \frac{(5-h)}{2} \right)$$

$$5 + \frac{25}{2} = \frac{35}{2}$$

\*\*\*\*\*

3.  $\int_2^3 x^2 dx$

**SOLUTION**

Let  $f(x) = x^2 \Rightarrow \int_2^3 f(x) dx = \int_2^3 x^2 dx$  Where,  $a = 2, b = 3, nh = 1$  Now,  $f(a) = f(2) = 2^2, f(a+h) = f(2+h) = (2+h)^2 = 4 +$   
 $h^2 + 4h, f(a+2h) = f(2+2h) = (2+2h)^2 = 4 + 4h^2 + 8h$  .....

.....  $f(a+(n-1)h) = f[2+(n-1)h] = [2+(n-1)h]^2 = 4 + (n-1)^2 h^2 + 4(n-1)h$  By defini-

tion  $\int_a^b f(x) dx = \lim_{h \rightarrow 0} h [f(a) + f(a+h) + f(a+2h) + \dots + f(a+(n-1)h)] \therefore \int_2^3 x^2 dx$

## INTEGRATION

$$\begin{aligned} &= \lim_{h \rightarrow 0} h \left[ 4n + h^2 (1 + 4 + 9 + \dots + (n-1)^2) + 4h [1 + 2 + \dots + (n-1)] \right] = \lim_{h \rightarrow 0} h \left[ 4n + \frac{h^2 (n-1)n(2n-1)}{6} + 4h \frac{(n-1)n}{2} \right] = \lim_{h \rightarrow 0} \left[ 4nh + \frac{h^3 (n-1)n(2n-1)}{6} + 2h^2 (n-1)n \right] \\ &= 4 \times 1 + \frac{1 \times 2}{6} + 2 \times 1 \times 1 = 4 + \frac{1}{3} + 2 = 6 + \frac{1}{3} = \frac{19}{3} \end{aligned}$$

Download Math E-Books from [www.mathstudy.in](http://www.mathstudy.in)



[www.mathstudy.in](http://www.mathstudy.in)

## Our Mathematics E-Books

- (a) J.E.E. ( Join Entrance Exam)
  - ★ Chapter Tests ( Full Syllabus- Fully Solved)
  - ★ Twenty Mock Tests ( Full Length - Fully Solved )
- (b) B.I.T.S.A.T. Twenty Mock Tests ( Fully Solved)
- (c) C.B.S.E.
  - ★ Work-Book Class XII ( Fully Solved)
  - ★ Objective Type Questions Bank C.B.S.E. Class XII ( Fully Solved)
  - ★ Chapter Test Papers Class XII ( Fully Solved)
  - ★ Past Fifteen Years Topicwise Questions (Fully Solved)
  - ★ Sample Papers Class XII ( Twenty Papers Fully Solved- includes 2020 solved paper )
  - ★ Sample Papers Class X ( Twenty Papers Fully Solved -includes 2020 solved paper)
- (d) I.C.S.E. & I.S.C.
  - ★ Work-Book Class XII ( Fully Solved)
  - ★ Chapter Test Papers Class XII ( Fully Solved)
  - ★ Sample Papers Class XII ( Twenty Papers Fully Solved -includes 2020 solved paper)
  - ★ Sample Papers Class X ( Twenty Papers Fully Solved -includes 2020 solved paper)
- (e) Practice Papers for SAT -I Mathematics (15 Papers - Fully Solved)
- (f) SAT - II Subject Mathematics (15 Papers - Fully Solved)



# INTEGRATION

4.  $\int_1^4 (x^2 - x) dx$

**SOLUTION**

Let  $f(x) = x^2 - x \Rightarrow \int_1^4 f(x) dx = \int_1^4 (x^2 - x) dx$  Where  $a = 1, b = 4, nh = 3$  Now,  $f(a) = f(1) = 1 - 1 = 0$   $f(a+h) = f(1+h) = (1+h)^2 - (1+h) = h^2 + h$   $f(a+2h) = f(1+2h) = (1+2h)^2 - (1+2h) = 4h^2 + 2h$   $f(a+3h) = f(1+3h) = (1+3h)^2 - (1+3h) = 9h^2 + 3h$  .....

$f(a+(n-1)h) = f(1+(n-1)h) = (1+(n-1)h)^2 - (1+(n-1)h) = (n-1)^2 h^2 + (n-1)h$  By definition  $\int_a^b f(x) dx = \lim_{h \rightarrow 0} h [f(a) + f(a+h) + f(a+2h) + \dots + f(a+(n-1)h)]$

$\therefore \int_1^4 (x^2 - x) dx = \lim_{h \rightarrow 0} h [0 + (h^2 + h) + (4h^2 + 2h) + (9h^2 + 3h) + \dots + \{(n-1)^2 h^2 + (n-1)h\}] = \lim_{h \rightarrow 0} h [h^2 \{1 + 4 + 9 + \dots + (n-1)^2\}]$

$= \lim_{h \rightarrow 0} h \left[ h^2 \frac{(n-1)n(2n-1)}{6} + \frac{h(n-1)n}{2} \right] = \lim_{h \rightarrow 0} \left[ \frac{(nh-h)nh(2hn-h)}{6} + \frac{(nh-h)nh}{2} \right] = \lim_{h \rightarrow 0} \left[ \frac{(3-h)3(6-h)}{6} + \frac{(3-h)3}{2} \right] = \frac{3(3)(6)}{6} + \frac{3(3)}{2} = 9 + \frac{9}{2} = \frac{27}{2}$

5.  $\int_{-1}^1 e^x dx$

**SOLUTION**

Let  $f(x) = e^x \Rightarrow \int_{-1}^1 f(x) dx = \int_{-1}^1 e^x dx$  Where  $a = -1, b = 1, nh = b - a = 1 + 1 = 2$  Now,  $f(a) = f(-1) = e^{-1}$   $f(a+h) = f(-1+h) = e^{-1+h}$   $f(a+2h) = f(-1+2h) = e^{-1+2h}$  .....

$f(a+(n-1)h) = f(-1+(n-1)h) = e^{-1+(n-1)h}$  By definition  $\int_a^b f(x) dx = \lim_{h \rightarrow 0} h [f(a) + f(a+h) + f(a+2h) + \dots + f(a+(n-1)h)]$   $\therefore \int_{-1}^1 e^x dx = \lim_{h \rightarrow 0} h [e^{-1} + e^{-1+h} + e^{-1+2h} + \dots + e^{-1+(n-1)h}]$

$= \lim_{h \rightarrow 0} h \left[ e^{-1} (1 + e^h + e^{2h} + \dots + e^{(n-1)h}) \right] = \lim_{h \rightarrow 0} h \cdot \frac{1}{e} \cdot \frac{1 \cdot (e^{nh} - 1)}{e^h - 1} = \lim_{h \rightarrow 0} \left( \frac{1}{e} \right) \cdot \frac{1 \cdot (e^2 - 1)}{(e^h - 1)} = \frac{1}{e} \cdot \frac{e^2 - 1}{\log e} = e - \frac{1}{e}$

6.  $I = \int_0^4 (x + e^{2x}) dx$

**SOLUTION**

Let  $f(x) = x + e^{2x} \Rightarrow \int_0^4 f(x) dx = \int_0^4 (x + e^{2x}) dx$  Where  $a = 0, b = 4$  and  $nh = b - a = 4 - 0 = 4$  By definition  $\int_a^b f(x) dx = \lim_{h \rightarrow 0} h [f(a) + f(a+h) + f(a+2h) + \dots + f(a+(n-1)h)]$

$\therefore \int_0^4 (x + e^{2x}) dx = \lim_{h \rightarrow 0} h [f(0) + f(h) + f(2h) + \dots + f((n-1)h)]$

$= \lim_{h \rightarrow 0} h \left[ \{0 + e^0\} + \{h + e^{2h}\} + \{2h + e^{4h}\} + \dots + \{(n-1)h + e^{2(n-1)h}\} \right] = \lim_{h \rightarrow 0} h \left[ h(1 + 2 + 3 + \dots + (n-1)) + e^{2h} (1 + e^{2h} + e^{4h} + \dots + e^{2(n-1)h}) \right]$

$= \lim_{h \rightarrow 0} h \left[ h \cdot \frac{(n-1)(1+(n-1))}{2} + e^{2h} \cdot \frac{1 \cdot (e^{2(n-1)h} - 1)}{e^{2h} - 1} + 1 \right] = \lim_{h \rightarrow 0} \left[ \frac{(nh-h)(nh)}{2} + \frac{1}{2} \cdot \frac{e^{2h} (e^{2(n-1)h} - 1)}{e^{2h} - 1} + h \right] = \lim_{h \rightarrow 0} \left[ \frac{(4-h)4}{2} + \frac{1}{2} \cdot \frac{e^8 - 1}{e^2 - 1} + 4 \right]$

$= \frac{4 \times 4}{2} + \frac{1}{2} \cdot \frac{e^8 - 1}{\log e} + 0 = 8 + \frac{1}{2} (e^8 - 1) = \frac{16 + e^8 - 1}{2} = \frac{e^8 + 15}{2}$



[www.mathstudy.in](http://www.mathstudy.in)

## Our Mathematics E-Books

1. J.E.E. ( Join Entrance Exam)
  - ★ Chapter Tests ( Full Syllabus- Fully Solved)
  - ★ Twenty Mock Tests ( Full Length - Fully Solved )
2. B.I.T.S.A.T. Twenty Mock Tests ( Fully Solved)
3. C.B.S.E.
  - ★ Work-Book Class XII ( Fully Solved)
  - ★ Objective Type Questions Bank C.B.S.E. Class XII ( Fully Solved)
  - ★ Chapter Test Papers Class XII ( Fully Solved)
  - ★ Past Fifteen Years Topicwise Questions (Fully Solved)
  - ★ Sample Papers Class XII ( Twenty Papers Fully Solved- includes 2020 solved paper )
  - ★ Sample Papers Class X ( Twenty Papers Fully Solved -includes 2020 solved paper)
4. I.C.S.E. & I.S.C.
  - ★ Work-Book Class XII ( Fully Solved)
  - ★ Chapter Test Papers Class XII ( Fully Solved)
  - ★ Sample Papers Class XII ( Twenty Papers Fully Solved -includes 2020 solved paper)
  - ★ Sample Papers Class X ( Twenty Papers Fully Solved -includes 2020 solved paper)
5. Practice Papers for SAT -I Mathematics (15 Papers - Fully Solved)
6. SAT - II Subject Mathematics (15 Papers - Fully Solved)

